Pounds and Pence

1. How much money is in each group?
Give your answer in pence and as a
decimal.

A.

VF

4. Aaliyah has a total of 1,187p and has
exactly 2 notes and 8 coins.

She has used 2 notes and 1 coin for the
pounds and 7 coins to make the pence.

Which coins could Aaliyah have?
Find two possible solutions.

PS

2. A ticket to the farm costs £5.75.

Leo has the coins and notes below.

Does he have enough to buy a ticket to

the farm?
VF

5. Reece has the coins below.
He says,

A I have 648 pence which can
.3 be written as £6.48.
—

Is Reece correct? Convince me.

R

3. Complete the table.

6. Lilian and Dale both want to buy a new
book costing £6.37.

P £andp Lilian has a £5 note, a £1 coin, three 10p
127 coins, and four 1p coins.
£0.99 Dale has two £2 coins, two £1 coins, five
204 5p coins, a 10p coin and three 2p coins.
£5.91 Can either Lilian or Dale buy the book?
Prove it.
14
9
VF R
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Pounds and Pence

1. A. 838 p = £8.38; B. 597 p = £5.97

2. Leo only has £5.74 so he needs 1p more to be able to buy the ticket.

e [ eer |

127 £1.27
99 £0.99
204 £2.04
591 £5.91
14 £0.14
9 £0.09

4. Various answers, for example:

Two £5 notes, one £1 coin, one 50p coin, three 10p coins, one 5p coin and two 1p coins.
Two £5 notes, one £1 coin, one 50p coin, one 20p coin, three 5p coins and two 1p coins.
5. Reece is incorrect because he has counted the £2 coins as £1 coins and therefore has

the wrong total. He has £9.48 which is equals to 948p.

6. Dale has enough money to buy the book because he has a total of £6.41 which is
more than £6.37. Lilian cannot buy the book as she only has £6.34 so she needs 3p more

to have enough money.
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